
The second sentence is negating the first sentence.

"cannot' is one word.

Be more specific in outline e.g
1. War breeds resentment in society, bringing effectees in conflict with government policies

Of what kind?

How does this effect peace?



Synthesis should be a middle point between 'can' of thesis and 'cannot' of anti-thesis. While your synthesis is only about thesis.

War is usually the ultimate solution of conflicts

The collateral damage of war is the price of peace 

Weak phrasing

Causes more

It secures

Point e is not related to main point 5



It means analyze all parts of the world.

Local and global are antonyms and can't be fit into same category

With what?

Where is unrest?



Negative? As the previous heading was about positive 

Ambiguous 
Phrasing

Avoid translating your thoughts literally into English,English use figurative or simple language

Ambiguous 

Reason?



Get your outlines checked before writing essays.

Highlight

Highlight



Which effects?

The thesis statement should be about effects of political instability while the following T.S. Is mostly about causes

Topic is not Pakistan specific

Not asked in topic 



Erosion of healthy political value

Point 4 is what is asked in topic. You may divide the point in subheadings i.e. Political effects, social effects, economic effects, effects on national security.... 
The subheadings could be i.e. Martial law finds space under doctrine of necessity

Be specific





Use present indefinite for stating general situations and use past tenses for events that have already occurred.

The quotation is about economic problems caused by Pol instability, better to use it in that section.































Your essay writing is better than outline writing make sure to make the outline accurately.



Work on paper presentation. Make it more neat.




